
 

 

 

License Plate / Turn Signal Relocation Kit - Model SPTMS-02   
Application Harley Davidson Nightster, 48, 72 and Iron 883   

Before you begin, read these instructions and check to be sure all parts are accounted for. 

 

Qty.  Part Description 

1 Mounting Bracket 

1 Mounting Strap 

1 Lighted License Plate Frame 

2     5/16 Black Button Head Bolts with Flat 

Washer and Nylok Nuts 

2 5/16 Hex Head Bolts with Flat and Lock 

Washers 

4   Black Screws with Nylon Lock Nuts 

2 ¼” Nylon Lock Nuts 

2 #8 Cap Screws with Nuts and Lock Washers 

2 Black Blank Fillers 

18 Butt Connectors 

 18 Gauge Wire (Black, Pink & Blue) 

    

Installation Instructions 

Note:  A licensed Harley Davidson technician should be consulted before beginning installation of the 

SPTMS-02 kit. The following instructions are intended to provide general instructions for the installation of 

the relocation kit. Use Loctite on all bolts not secured with a nylon lock nut. 

 
1. Place the motorcycle on a safe and secure motorcycle jack. Place protective tape on the rear fender to avoid scratching the 

paint. (See Fig 1) Unbolt the rear shocks at the lower bolt and lower the tire. This may be a two man task.  Remove the seat 

and locate the turn signal and license plate connections.(See Fig 3) Disconnect the turn signals and license plate light. 

Remove the rear reflector from the underside of the rear fender.  Remove the license plate from the motorcycle. 

2. Remove the turn signal lenses and bulbs both sides. This will make access to the rear side cover bolt easier. Remove the turn 

signals and license plate light from the motorcycle. Complete removal of the turn signals may be delayed until after removal 

of the side covers. Mark the license plate mount with a silver sharpie flush with the bottom of the fender. We will be cutting 

the license plate mount off the mounting plate after removal from the fender. Remove the side cover bolts, both sides of the 

motorcycle. Loosen the top shock bolts to remove the side cover at the front. Remove the rear fender support located inside 

the fender.  

3. Remove the license plate mount from the motorcycle. The fender need not be removed from the motorcycle to remove the 

license plate mount from the motorcycle. The seat post only needs to be loosened not removed. Have an assistant raise or 

lower the fender to access the rivets. Drill out the rivets and remove the license plate bracket mount. At the mark you 

previously made, cut the license plate mount from the reflector mount. Reinstall the reflector mount using the #8 cap screws, 

nuts and lock washers. Retighten the seat post. 

4. Install the new mounting bracket to the rear fender support using the mounting strap and two ¼ nylon lock nuts. (See Fig 2) 

Install the side covers with the front bolt only. Retighten the shock top bolts. Install the new mounting bracket assembly onto 

the motorcycle using the stock rear bolt, nut plate and fender support screw through the top of the fender. 

5. Cut the turn signal and license plate light wires approximately 12” from the plug end. Install the turn signals and lighted 

license plate frame onto the new mounting bracket using the 5/16 hex head bolts (Note: a small notch at the top center of the 

license plate may be required to allow for lighted license plate frame wires), flat and lock washers to mount the turn signals 

and the supplied screws and nuts to mount the lighted license plate frame.  Extend the wires as required using the provided 

wire and butt connectors. Route the wiring back to the connections under the seat using the reflector mounting brackets. Be 

sure all wires are secure and will not come into conflict with the tire. Reconnect the turn signals and license plate. Reinstall 

the bulbs and lenses. Test to make sure the turn signals are connected properly. 

6. Install the black filler blank on the fender rail at the stock turn signal location using the 5/16 black button head bolt, flat 

washer and nylon lock nut. (See Fig 4) Reinstall the shocks. 

  

Notice to Consumer 
Neither the manufacturer nor the distributor or retailer of the Mounting System makes any express warranties of any kind with respect to the Mounting 

System.  Any implied warranty does not cover defects caused by modification or alterations of the Mounting System or caused by physical abuse to or 

misuse of the Mounting System or its use and/or operation in a manner contrary to the accompanying instructions.  Failure to install and/or use the 

Mounting System in the manner described by the accompanying instructions shall render all warranties, expressed and/or implied, void and release the 

manufacturer, distributor and retailer from any and all liability arising from the use of the Mounting System,. 

For product support, damaged or missing parts, please contact Great Bike Gear, Inc. at 866-521-3024 

Do not return product without prior authorization. 



 

 

SEE REVERSE SIDE FOR ILLUSTRATIONS 

  
 

Figure 1 

 

 

 

Figure 3 

 
 

Figure 2 
 

 

 
 

Figure 4 

 

 
 

 

For more Picture Visit our Website www.greatbikegear.com 


